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[3-(chlorocarbonyl)-2-methylphenyl]acetate
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H.n-SES/2 24 (Kow)

1.252 (g/cm3)
1.58 (Log Kow)
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o=
LC50 21.142 mg/t 96 hr (Ecosar:Acid Halides)

EC50 48.571 mg/t 96 hr (Ecosar:Esters)

L &sd &

He
Al
ol

’I_I__
ML
%\l
0x
@
=]
z
=}
o
o
=

13. RE FDOFE=E

Jh HOI e
1)JISH S 22t Js8 A2 ST S 2elYUOZ AF el StAl 2.
LE. T DAl =2l ALE

=

=

g
i

( 70 FAIE HWE0 [Het) Lhe=2 718 HIIGHAI2.

14. Bgik EOERE

Chemical Book



no
uio

00

0o
33

00

=
o

Rl
O
30
30

=
1o

ofle

]

40
OH

HAFE XL 28 £=

K

b

20

ST Al HI

0o
a3

00

=
[[s}

=4
Ki

-

20

=<
L]
Ok

00
&3

00

=
[[s}

15. & A &

T+ Al

5t

0o
53
a0

=
[}

Al

&t

00
38
00

=3
1o

Al

5t

clgol 2

el
Kl
oJ
O
160
oF

-

.I

3

0o
53
a0

=
[}

Al

HII=S 22l Hol 2 st

ct.

PRSI

ol 2l &t Xl

=UAA

0o
53

00

-
([}

JIEF W 7 A

0l0
38

00

-
o

=27A

=222 (0OSHA 1 &)

00
38

00

-
o

02228 2 (CERCLA 1 3)

0o
38

00

-
o

Ol=2cl & 2 (EPCRA302 -1 &)

0o
3

00

=3
o

0222l E 2 (EPCRA304 1 &)

00
3
00

=3
o

0l=222| 8 2 (EPCRA313 7 &)

00
38

00

=
1o

i8]

R0
)
gl
nr

Chemical Book



16. 1 §72| & OAtE

DI IONI=3° - p5

ZASHELXT
2023-12-23

ch. JlE

>
)]
0
olo

LEIESF
0l MSDSe| M= N=EE M0
MEB ASXH Matst 2 DS
=0l BEHS L2 0F 8HCH = MSD

mo 2
y e 12

A %IHHWD* Xﬂa
A= 2 MSDS AtE

[¢]
Foo

J



